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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

1. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes

A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

1. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11; and

13 because the whisker from 6 to 9 is longer than the whisker from 11; to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

Grade 6 Math
Men’s Shoe Sizes

Assessment Anchor this item will be reported under:
MO06.D-S.1 Demonstrate understanding of statistical variability by summarizing and
describing distributions.

Specific Anchor Descriptor addressed by this item:
M06.D-S.1.1 Display, analyze, and summarize numerical data sets in relation to their

context.

Scoring Guide:

Score

In this item, the student —

4

Demonstrates a thorough understanding of statistical variability by correctly
solving problems and clearly explaining procedures.

Demonstrates a general understanding of statistical variability by correctly solving
problems and clearly explaining procedures with only minor errors or omissions.

Demonstrates a partial understanding of statistical variability by correctly
performing a significant portion of the required task.

Demonstrates minimal understanding of statistical variability.

The response has no correct answer and insufficient evidence to demonstrate any
understanding of the mathematical concepts and procedures as required by the
task. Response may show only information copied from the question.

Top Scoring Student Response And Training Notes:

Score

Description

4

Student earns 4 points.

Student earns 3.0 — 3.5 points.

Student earns 2.0 — 2.5 points.

3
2
1

Student earns 0.5 - 1.5 points.
OR
Student demonstrates minimal understanding of statistical variability.

Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.




PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

What? Why?

Sample Explanation:
In a box-and-whisker plot, the line inside the box represents
the median.

1
size) 10—
(size) >

(2 score points)
1 point for correct answer
1 point for complete explanation
OR Y2 point for correct but incomplete explanation

What? Why?

10 (men) Sample Explanation:

The first whisker represents the 1t quartile and the second
whisker represents the 4" quartile. Each quartile represents %4
of the total number of males. Since there are 40 males surveyed,
each quartile represents 10 males.

(2 score points)
1 point for correct answer
1 point for complete explanation
OR Y2 point for correct but incomplete explanation
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set A1

74, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his resuilts.
Men’s Shoe Sizes

| ) i l | -
i i ) 1 r

’ I
6 7 8 g 10 11 12 13

A. What was the median shoe size of the 40 men Carlos surveyed? Explain how

you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

A1

74. Continued. Please refer to the previous page for task explanation.

numbers.

__Show

Martin thinks more men have shoe sizes between 6 and 9 than between 11 1 and

13 because the whisker from 6 to 9 is longer than the whisker from 11‘1 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the humber
of men with shoe sizes in each interval and describe how you found those
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set
A2

74. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

74. Continued. Please refer to the previous page for task explanation.

A2

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11%— to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number

of men with shoe sizes in each interval and describe how you found those
numbers.

N\O\P\-zn ;s ho‘\ cM‘f“eA“» —T\hefe ate
Fen ™men  m each inteal. L Sound Hhose
ouey \°>’ do‘mg 10+ L"“':\Q Sinve Yhere velfe

MO men  and Fhere wece Y intervals, T, ine

'%\;:am [o Yo C\ “'\Cky \J@, \cﬂ‘ge(‘ \Dm\' ’{'L\q*' e
\.' has a X)‘n%-cr Tnge of Shoe Sizes The
e Lam Yo V3 meons '“\ere. s Q

Staller unge  bur more e |
Pep ove the
e shoe Sze. |



JSKelly
Text Box

JSKelly
Text Box

csloan
Text Box


PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

A3

| o

25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

A3

25. Continued. Please refer to the previous page for task explanation,

— — s em— —

Martin thinks more men have shoe sizes between 6 and 9 than between 11 %— and

13 because the whisker from 6-to 9 is longer than the whisker from 11% to 13.

L]

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers,
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

A4

- I
25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resuits,

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
, you found your answer,
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

A4

25. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11-;— and

| 13 because the whisker from 6 to 9 is longer than the whisker from 11-1— to 13.

2

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.

I ¥Yhow MaArin 6 hot C(orréect becacise
Cavh Port OF the whiseer Plof
% cqoaal 10 26% 40, £ven Fheag!,
& o 0 9 londer than Fae Whittes
from N1z to 13, they are o
Cqual 1o 26% Tt OGNt maye,
how 479 the whiseef: |5 beaos
an 15 pgaal {0 25% '

., . ‘ 4 il“‘
Eramplts, " | Co
' &——/—-:_? | o \ . i
o1 5Y%0 25k
. 7 ’ S )
o Er " i
o— K27y

2% . —
— 2L - oy, gl



JSKelly
Text Box

JSKelly
Text Box

csloan
Text Box


PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set
A5
o

74, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his resuits.
| Men's Shoe Sizes
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A. What was the:mediafi shoe size of the 40 men Carlos surveyed? Explain how

you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

74. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11‘% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those

numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

-
25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.
Men's Shoe Sizes
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A. What was the median shoe size of.the 40 men Carlos surveyed? Explain how
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

ISMLOS. 1890234.0089

25. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11-15- to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number

of men with shoe sizes in each interval and describe how you found those
numbers.

MM\\W 19 wok coreek boecaus e Jne median
o W m&\é V\um\ogx" T\'W\M&\é’/ number 1S
(2. e vanae OF @79 &M o less Yhan
g, zdian SO M winsT ww:em Wit n,ﬁé

LA S

~

.

\49 \".'J Ve Wove wgnc meamwg Yese shoss.
"'\\e ey wooud st \*'\\513\00 e Zi ’gjnd
20" Viim b er :CUW}B\PLCA Wan C"ldcézc] I
5&‘3" Wi weliom, The \owert edvemesss (,

B&CO%(’/ Lo & W \owesk dok on W Smph,
It YO ke s, D \oeww&?\'\mjﬁ'é W&f@u@,
‘\‘?é‘“s" of '\A{‘& 81"0{7\). The \owed @).ow%'\\'g; 1S
q \95%& :&f}aa line Vockore e median line

17 &‘QW 22 (Dm\-\\c S \\“'i baow*s“
-"\«b We. ofde W widion esthes ““’2.

A6


JSKelly
Text Box

JSKelly
Text Box

csloan
Text Box





PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set A7

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes

. [ [ o

] |
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

The median shoe size of 40 men is 10.5. The madian is 10.5 because the line that shows the middle is right inbetween the 10
and the 11.
135 7 1000

1
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from 115 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

Martin is not comrect because each quanity is 25%, it does not matter how long the line is. It will always be 25%. In each
intervolt there is 10 shoe sizes. | found this by deing 40 + 4 = 10 beacuse there are four quanities and 40 men where

surveyed. There are 10 shoe sizes in each of the guanities
F550 1000




PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set A8

=
74. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his results.
Men's Shoe Sizes

.
8 9 10 11 12 13

F )
D—— O
P
-—t—

A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.

’0{5 +there 15 0 bov gboye

QoM and theres @ line Gnd T
brbugh»‘ o Siraight down o /Q(‘;



JSKelly
Text Box

csloan
Text Box


PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

74. Continued. Please refer to the previous.page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11';- and

13 because the whisker from 6 to 8 is longer than the whisker from 11% fo 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

74.

Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resulits. ‘

Men'’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

A9

IBWIL 10.515734.01 14

74. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set
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74. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resuits.
Men’s Shoe Sizes
® [——=e
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

A10

74. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11 % and

13 because the whisker from 6 to 9 is longer than the whisker from 11-21- to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math:

Men's Shoe Sizes (Grade 6); Anchor Set

-

A11

f

74. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his resulis.

Men’s Shoe Slzes

DR Y

you found your answer. q ‘% 1 C fo 553

A. What was the median shoe size of thé 40 men Carlos sulveyed? Explain how
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set A1

74. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11 % and

13 because the whisker from 6 to 9 is longer than the whisker from 11-;— to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe hov!F'ou foundthose UHH
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PSSA Math: Men's Shoe Sizes (Grade 6): Anchor Set A12
=
74, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results,
Men'’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
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PSSA Math: Men's Shoe Sizes (Grade 6); Anchor Set

74. Continued. Piqase refer to the previous page for task explanation.,

Martin thinks moré men have shoe sizes between 6 and 9 than between 11

1
2 and
13 because the whisker from 6 to 9 is longer than the whisker from 11

1
> to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoé sizes in each interval and describe how you found those
' numbers. '
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